UGC NET 2021 Arabic

Topic:- 29Arabic_A
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[Question ID = 101][Question Description = Q01_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 401]
2 [Option ID = 402]
3 [Option ID = 403]
4 [Option ID = 404]
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[Question ID = 102][Question Description = Q02_29-Arabic_Shift1_UGCNET_20NOV_S1]

1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]
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[Question ID = 103][Question Description = Q03_29-Arabic_Shift1_UGCNET_20NOV_S1]

1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]
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[Question ID = 104][Question Description = Q04_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 413]
2 [Option ID = 414]
3 [Option ID = 415]
4 [Option ID = 416]
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[Question ID = 105][Question Description = Q05_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]
3. 3 [Option ID = 419]
4. 4 [Option ID = 420]
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[Question ID = 106][Question Description = Q06_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 421]
2. 2 [Option ID = 422]
3. 3 [Option ID = 423]
4. 4 [Option ID = 424]
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[Question ID = 107][Question Description = Q07_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]
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[Question ID = 108][Question Description = Q08_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]
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[Question ID = 109][Question Description = Q09_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]
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[Question ID = 110][Question Description = Q10_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]
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[Question ID = 111][Question Description = Q11_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]
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[Question ID = 112][Question Description = Q12_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]
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[Question ID = 113][Question Description = Q13_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]
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[Question ID = 114][Question Description = Q14_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]



4. 4 [Option ID = 456]
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[Question ID = 115][Question Description = Q15_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]
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[Question ID = 116][Question Description = Q16_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]
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[Question ID = 117][Question Description = Q17_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]
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[Question ID = 118][Question Description = Q18_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]
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[Question ID = 119][Question Description = Q19_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]
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[Question ID = 120][Question Description = Q20_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]
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[Question ID = 121][Question Description = Q21_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 481]
2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]
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[Question ID = 122][Question Description = Q22_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]
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[Question ID = 123][Question Description = Q23_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]



3. 3 [Option ID = 491]
4. 4 [Option ID = 492]
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[Question ID = 124][Question Description = Q24_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 493]
2 [Option ID = 494]
3 [Option ID = 495]
4 [Option ID = 496]
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[Question ID = 125][Question Description = Q25_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]
3. 3 [Option ID = 499]
4. 4 [Option ID = 500]
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[Question ID = 126][Question Description = Q26_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 501]
2 [Option ID = 502]
3 [Option ID = 503]
4 [Option ID = 504]
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[Question ID = 127][Question Description = Q27_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 505]
2 [Option ID = 506]
3 [Option ID = 507]
4 [Option ID = 508]
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[Question ID = 128][Question Description = Q28_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 509]
2 [Option ID = 510]
3 [Option ID = 511]
4 [Option ID = 512]
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[Question ID = 129][Question Description = Q29_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 513]
2 [Option ID = 514]
3 [Option ID = 515]
4 [Option ID = 516]
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[Question ID = 130][Question Description = Q30_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]
3. 3 [Option ID = 519]



4. 4 [Option ID = 520]
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[Question ID = 131][Question Description = Q31_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]
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[Question ID = 132][Question Description = Q32_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]
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[Question ID = 133][Question Description = Q33_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]
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[Question ID = 134][Question Description = Q34_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 533]
2 [Option ID = 534]
3 [Option ID = 535]
4 [Option ID = 536]
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[Question ID = 135][Question Description = Q35_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 537]
2 [Option ID = 538]
3 [Option ID = 539]
4 [Option ID = 540]
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[Question ID = 136][Question Description = Q36_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 541]
2 [Option ID = 542]
3 [Option ID = 543]
4 [Option ID = 544]
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[Question ID = 137][Question Description = Q37_29-Arabic_Shift1_UGCNET_20NOV_S1]



1. 1 [Option ID = 545]
2. 2 [Option ID = 546]
3. 3 [Option ID = 547]
4. 4 [Option ID = 548]
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[Question ID = 138][Question Description = Q38_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 549]
2 [Option ID = 550]
3 [Option ID = 551]
4 [Option ID = 552]
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[Question ID = 139][Question Description = Q39_29-Arabic_Shift1_UGCNET_20NOV_S1]

1. 1 [Option ID = 553]

2. 2 [Option ID = 554]

3. 3 [Option ID = 555]

4. 4 [Option ID = 556]
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[Question ID = 140][Question Description = Q40_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 557]
2 [Option ID = 558]
3 [Option ID = 559]
4 [Option ID = 560]
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[Question ID = 141][Question Description = Q41_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 561]
2 [Option ID = 562]
3 [Option ID = 563]
4 [Option ID = 564]

AN wN -

42) % s 5
£

el (5 30 oliel 4 3l , 2,1 EJL{G]%U«-" L"-G—‘-‘ ol el Qe C);"
FENCPANR ECNCRIY o

a2 @ Ll
@J3W1MT (4) &M‘@N‘d‘ﬁq (3)

[Question ID = 142][Question Description = Q42_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 565]
2 [Option ID = 566]
3 [Option ID = 567]
4 [Option ID = 568]
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[Question ID = 143][Question Description = Q43_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 569]
2 [Option ID = 570]
3 [Option ID = 571]
4 [Option ID = 572]
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[Question ID = 144][Question Description = Q44_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 573]
2 [Option ID = 574]
3 [Option ID = 575]
4 [Option ID = 576]
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[Question ID = 145][Question Description = Q45_29-Arabic_Shift1_UGCNET_20NOV_S1]



1 [Option ID = 577]
2 [Option ID = 578]
3 [Option ID = 579]
4 [Option ID = 580]
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[Question ID = 146][Question Description = Q46_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]
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[Question ID = 147][Question Description = Q47_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]
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[Question ID = 148][Question Description = Q48_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]
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[Question ID = 149][Question Description = Q49_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]
3. 3 [Option ID = 595]
4. 4 [Option ID = 596]



50)

0o Y8 i) il B3 HEN o Lo

ol pe s @ ol pe NS ()
BER o et () ZOERO LES-TIC) G

[Question ID = 150][Question Description = Q50_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]
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[Question ID = 151][Question Description = Q51_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 601]
2. 2 [Option ID = 602]
3. 3 [Option ID = 603]
4. 4 [Option ID = 604]
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[Question ID = 152][Question Description = Q52_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 605]
2. 2 [Option ID = 606]
3. 3 [Option ID = 607]
4. 4 [Option ID = 608]
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[Question ID = 153][Question Description = Q53_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 609]
2. 2 [Option ID = 610]
3. 3 [Option ID = 611]
4. 4 [Option ID = 612]
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[Question ID = 154][Question Description = Q54_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3. 3 [Option ID = 615]
4. 4 [Option ID = 616]
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[Question ID = 155][Question Description = Q55_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3. 3 [Option ID = 619]
4. 4 [Option ID = 620]
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[Question ID = 156][Question Description = Q56_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 621]
2. 2 [Option ID = 622]
3. 3 [Option ID = 623]
4. 4 [Option ID = 624]
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[Question ID = 157][Question Description = Q57_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 625]
2. 2 [Option ID = 626]
3. 3 [Option ID = 627]
4. 4 [Option ID = 628]
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[Question ID = 158][Question Description = Q58_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 629]
2 [Option ID = 630]
3 [Option ID = 631]
4 [Option ID = 632]
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[Question ID = 159][Question Description = Q59_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 633]
2. 2 [Option ID = 634]
3. 3 [Option ID = 635]
4. 4 [Option ID = 636]
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[Question ID = 160][Question Description = Q60_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 637]
2 [Option ID = 638]
3 [Option ID = 639]
4 [Option ID = 640]
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[Question ID = 161][Question Description = Q61_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 641]
2 [Option ID = 642]
3 [Option ID = 643]
4 [Option ID = 644]
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[Question ID = 162][Question Description = Q62_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 645]
2 [Option ID = 646]
3 [Option ID = 647]
4 [Option ID = 648]
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[Question ID = 163][Question Description = Q63_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 649]
2 [Option ID = 650]
3 [Option ID = 651]
4 [Option ID = 652]
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[Question ID = 164][Question Description = Q64_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 653]
2 [Option ID = 654]
3 [Option ID = 655]
4 [Option ID = 656]

A W N -

65 :
) Given below are two statements :

Statement I :
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In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement IT is false

(4) Statement I is false but Statement II is true

[Question ID = 165][Question Description = Q65_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 657]
2. 2 [Option ID = 658]
3. 3 [Option ID = 659]
4. 4 [Option ID = 660]
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[Question ID = 166][Question Description = Q66_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 661]
2. 2 [Option ID = 662]
3. 3 [Option ID = 663]
4. 4 [Option ID = 664]

67 - e .
’ FEPIVUE | TP JWIEN 15 Jevy
Loss on exchange (2) To assess loss (1)
To suffer loss  (4) To make good a loss (3)

[Question ID = 167][Question Description = Q67_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 665]
2. 2 [Option ID = 666]
3. 3 [Option ID = 667]
4. 4 [Option ID = 668]

68) - - i s
: d*.".}}ledy[-.’ OF S | I T -9

Investor (2) Manipulator (1

Exchange director (4) Disinvestor (3

[Question ID = 168][Question Description = Q68_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 669]
2. 2 [Option ID = 670]
3. 3 [Option ID = 671]
4. 4 [Option ID = 672]
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[Question ID = 169][Question Description = Q69_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 673]
2. 2 [Option ID = 674]
3. 3 [Option ID = 675]
4. 4 [Option ID = 676]
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[Question ID = 170][Question Description = Q70_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 677]
2. 2 [Option ID = 678]
3. 3 [Option ID = 679]
4. 4 [Option ID = 680]
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[Question ID = 171][Question Description = Q71_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 681]
2. 2 [Option ID = 682]
3. 3 [Option ID = 683]
4. 4 [Option ID = 684]
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[Question ID = 172][Question Description = Q72_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 685]
2. 2 [Option ID = 686]
3. 3 [Option ID = 687]
4. 4 [Option ID = 688]

73)

(2

Given below are two statements :

Statement I :

gﬁm[—h’bgi"mu1mﬁisM‘Q’T’b*LQJ‘J&?%QlH
(o o o i B s L)) By ) Juadl,

Statement IT :

O E s |



In the hight of the above statements, choose the most appropriate answer from the
options given below :

(1)
@)
6)
€))

Both Statement I and Statement IT are correct
Both Statement I and Statement II are incorrect
Statement I is correct but Statement II is incorrect

Statement I is incorrect but Statement II is correct

[Question ID = 173][Question Description = Q73_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 689]
2. 2 [Option ID = 690]
3. 3 [Option ID = 691]
4. 4 [Option ID = 692]

74)

Match List I with List IT

List I List IT
@ b sl @ esles)
: ST YYE 3| U WV VY. a  Jlad)
© wnlut, am el
™ ole sl L) V) G, GE)
Choose the correct answer from the options given below :
(1 @A-dD. (B)-(IV). (C)-IID). (D)-(D)
(2) (A)-(IV). (B)-(II). (C)-(I1I), (D)-(I)
(3  @-(II). B)-D. (C)-aAV). (D)D)
(4 (A)-(ID. (B)-(IV). (C)-(I), (D)-11I)

[Question ID = 174][Question Description = Q74_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 693]
2. 2 [Option ID = 694]
3. 3 [Option ID = 695]
4. 4 [Option ID = 696]

75)

Given below are two statements :

Statement I :

(el 5 B30l Gl dls g B gue] G ol e U5 Ola W

Statement IT :

B & & 2 . - =
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In the light of the above statements, choose the correct answer from the options
given below :

(1)
)
(3)
(A

Both Statement I and Statement IT are true
Both Statement I and Statement II are false
Statement I is true but Statement II is false

Stotameant Tie falee bt Statement ITT 12 t1m1e



[Question ID = 175][Question Description = Q75_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 697]
2. 2 [Option ID = 698]
3. 3 [Option ID = 699]
4. 4 [Option ID = 700]

76)
Given below are two statements :

Statement I :
& 2
Leidn gl o8, Ludus! ) els B wsuasenl o)

Statement I :
raataand | Al sl s g2l A2 (e 6

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

[Question ID = 176][Question Description = Q76_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 701]
2. 2 [Option ID = 702]
3. 3 [Option ID = 703]
4. 4 [Option ID = 704]

77)
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Choose the correct answer from the options given below :

(1 @).(B).D)

2 @A) B

(3  A).3B).©C)

@ A.3B).O. D

[Question ID = 177][Question Description = Q77_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 705]
2. 2 [Option ID = 706]
3. 3 [Option ID = 707]
4. 4 [Option ID = 708]

78 ;
) Given below are two statements

A

(B)

(©

(D)



Statement I :

RJORITS PPETIIRE RIS 0 CIP S W O] P S IRCAY
Statement IL:

REVEEL NUPHIE) [RCT WA PRS TR SN ¢ S EV RN @) 8

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

[Question ID = 178][Question Description = Q78_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 709]
2. 2 [Option ID = 710]
3. 3 [Option ID = 711]
4. 4 [Option ID = 712]

79 ;
) Given below are two statements :

Statement I ;

SaAlsess) & 22 0! QB! (ATl G451 o) 06T
Statement IT :
-i._.:;ls-a-”aw!jgﬁfﬂ‘be‘wwéﬁjjt#!uﬁ

In the light of the above statements. choose the correct answer from the options
given below :

(1) Both Statement [ and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II 1s false
(4) Statement I is false but Statement II is true

[Question ID = 179][Question Description = Q79_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4. 4 [Option ID = 716]

80)
Match List I with List IT
List I List IT
(A) u.n.yoéy‘& D &,;UU-JH_};\J‘LLE.:J‘
B) (o] 0V s (ID) qﬂ‘ﬂ\éb5m1é’.)b'
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Choose the correct answer from the options given below :

(1) (A)-AV). (B)-(D), (C)-(ID), (D)-(I1L)

(2)  A-ID). (B)-aV). (C)-(@), (D)-(1I)

(3)  A)-aD. B)-D. (O)-dV). (D)-AID

4 A)-aQv). (B)-I). (C)-ID. (D)-@)
[Question ID = 180][Question Description = Q80_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 717]
2. 2 [Option ID = 718]

3. 3 [Option ID = 719]
4. 4 [Option ID = 720]

81) Given below are two statements :

Statement I :

e, Jeolo iz b glloe (Fustay Yo (@B iz s Led!

Statement IT :
Gl oo 3 @B sledy dss Yy

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

[Question ID = 181][Question Description = Q81_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]

82) Match List I with List IT
ListI List IT
@ Joldcsla o G3W0 N gue oanl !
B AududY dsait) M o e o
© ol du ue @D O ghae Jline
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Choose the correct answer from the options given below :

(1) A-aII). B)-1). (C)-aD. (D)-(IV)
2  @-dDn. B)-ID. (C)-1@). (D)-IV)
(3)  A-(IV). (B)-(II). (C)-(1L). (D)-(I)
4 @D, B)-IV), (C)-(1I), (D)-(ILL)
[Question ID = 182][Question Description = Q82_29-Arabic_Shift1_UGCNET_20NOV_S1]

1. 1 [Option ID = 725]
2. 2 [Option ID = 726]



3. 3 [Option ID = 727]
4. 4 [Option ID = 728]

83)
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Choose the correct answer from the options given below :

(1
(2)
(3)
(4)

(A). (©)
(B). (©)
(©). M)
(A). (B)

[Question ID = 183][Question Description = Q83_29-Arabic_Shift1_UGCNET_20NOV_S1]

A W N -

84)

1 [Option ID = 729]
2 [Option ID = 730]
3 [Option ID = 731]
4 [Option ID = 732]
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Choose the correct answer from the options given below :

(1)
(2)
(3
€Y

(A). (C). (B). (D)
D). (B). (©). (&)
(©). (A4). (B). (D)
(B). (4). (D). (C)

[Question ID = 184][Question Description = Q84_29-Arabic_Shift1_UGCNET_20NOV_S1]

A W N -

85)

1 [Option ID = 733]
2 [Option ID = 734]
3 [Option ID = 735]
4 [Option ID = 736]
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Choose the correct answer from the options given below :

(1 A (C). D), (B
2  (B.(0). @A), D)
3 @D 3.0 A
4 (). (A).(B). (D)

[Question ID = 185][Question Description = Q85_29-Arabic_Shift1_UGCNET_20NOV_S1]

A w N =

86)

1 [Option ID = 737]
2 [Option ID = 738]
3 [Option ID = 739]
4 [Option ID = 740]

D)

Match Last I with List IT
Tist I List II
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Choose the correct answer from the options given below :

1) A-O. (B)-I). (O)-1D. (D)-IV)
2)  (A-OV). (B)-(ID. (O)-(D). (D)-ID
(3)  (A)-aID. (B)-(IV), (O)-aD. (D)-(D)
4 (A)-aD. (B)-D). (O)-dID). (D)-(IV)

[Question ID = 186][Question Description = Q86_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 741]
2. 2 [Option ID = 742]
3. 3 [Option ID = 743]
4. 4 [Option ID = 744]
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Choose the correct answer from the options given below :

1 A (). ®B). D)
@  (®.(0).@A). D)
3  @D.®.(©C). A

Far LY SN AN CTHY TN

(A)

(B)

(©

(D)
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[Question ID = 187][Question Description = Q87_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]
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Choose the correct answer from the options given below :

(1
(2)
(3)
4

(A). (©)
(B). ()
@). M
(C). (D)

[Question ID = 188][Question Description = Q88_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]

89)

Statement I :

=

Loow

Statement IT :
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Given below are two statements :

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1)
)
(3)
4

Both Statement I and Statement IT are correct

Both Statement I and Statement II are incorrect

Statement I is correct but Statement II is incorrect

Statement I is incorrect but Statement II 1s correct

[Question ID = 189][Question Description = Q89_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

90)

Match List I with List IT



List I ListIT
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Choose the correct answer from the options given below -

() (L)1), (B)-(ID), (C)-(IV). (D)-(D)
2 (&)-(ID), (B)-(I1D). (C)-(T). (D)-(IV)
@) (@-D. (B)-aD. (C)-AV), (D)-(I1II)

4 (A)-AV), (B)-(D). (C)-(ID, (D)-(ILL)

[Question ID = 190][Question Description = Q90_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4. 4 [Option ID = 760]
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[Question ID = 191][Question Description = Q91_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]
3. 3 [Option ID = 763]
4. 4 [Option ID = 764]
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[Question ID = 192][Question Description = Q92_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 765]
2. 2 [Option ID = 766]



3. 3 [Option ID = 767]
4. 4 [Option ID = 768]
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[Question ID = 193][Question Description = Q93_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]
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[Question ID = 194][Question Description = Q94_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 773]
2. 2 [Option ID = 774]
3. 3 [Option ID = 775]
4. 4 [Option ID = 776]
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[Question ID = 195][Question Description = Q95_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

Topic:- 29Arabic_C
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[Question ID = 196][Question Description = Q96_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 781]
2. 2 [Option ID = 782]
3. 3 [Option ID = 783]
4. 4 [Option ID = 784]
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[Question ID = 197][Question Description = Q97_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]
3. 3 [Option ID = 787]
4. 4 [Option ID = 788]
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[Question ID = 198][Question Description = Q98_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]

4)

;50318 08 Gl o), il ot Tl ) s 53] 5 A () a1 ,3)

K 3L e T s i 8350 U dpand Ja Y1 6 S0V 8 sl g 00 U3
S s ) st W g gl (Bove v 303, 4513 o2 5T 0B 58 )

e oy A5 ) 2 LS ) iy s 5N 0] -y
(32 vy Fgmnd 2! At ] SN QN 30 ghins 90 (5 im0 iany” QIS
dnd) BT o 85 ol s SW! G ©samed si) Sin] o 1798 Tt e
S e oy L3 § aeld cud gidly emeal! e Cao,y” Sl A B
. waa 1353068 06, il sl soullls o sty LU G35 (o y Aikzse )N 55150
o 2835 Lode Ble 1357 95 oinaal! Ll 1o Cadol (2 Al A U 6,
03 56 B5les B i) Asd! @ o) o 5y i)y Lmnl) s 0]
ke 3 o ) s O g o3l ot i 085 3 2 o5 X e Y e
) ) 8 g b AU 1 oS Iy ol 0 slong 1596 08 U 5 6505
© s 8] 32 Eom Lt 80 Alal) W) 5o 8 pme oy O B U3,
S B uR) 23V alourly SV U8 iz () ons 52 tay el 51058 ayuiiT s
By Al 58 (el o) il e @35 LS I Yy pae Gaey”

31 &3 3 i il o e 8 (U1 Al ydly S| Wy dy i) Lo i

TEC VYIS PHREIE gER Y
FodY @ e D

532 WS @ Bavateslsal (3



[Question ID = 199][Question Description = Q99_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 793]
2. 2 [Option ID = 794]
3. 3 [Option ID = 795]
4. 4 [Option ID = 796]
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[Question ID = 200][Question Description = Q100_29-Arabic_Shift1_UGCNET_20NOV_S1]
1 [Option ID = 797]
2 [Option ID = 798]
3 [Option ID = 799]
. 4 [Option ID = 800]

A WN =

Topic:- General Paper_Set1_A

1) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: B
Service (SE) 15% 22
Sales (SA) 12% Hez: 3
Construction and Maintenance (M) 9% 5:4
Profezsional (PR) 18% h:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% FFa
Others (OT) 6% *h

FefetE A W fa=m fifse f5em o 57 50 99 3 T = T g § e % w5 e
(%) faam a1 gEe-AfEen FEEe wATE gmE T 2| @ & % Fe wEed F e 80 o Al
AT | T30 70 AR % S9N T U9 F 39 A0

wferorE (%) e | ger-ufeen wgE (709 )
a1 (uF ) 15% 39
ey (ug ) 12% 5:3
Fmio it e (d ) 9% 5:4
mHTEE (i #w) 18% 57
T (TF T) 21% 3:4
JearEA @ it (fF #) 19% 518
¥ (=7 7) 6% 3:5

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

oot & = e 059 FEse 6t ofted @e g4 27 (Z9Eed & 2 T 9)

(1) 6.39 @i g (2) 4.69 9@

(3) 5.96 @i g (4) 7.48 @™

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]
1 [Option ID = 8025]
2 [Option ID = 8026]
3 [Option ID = 8027]
4 [Option ID = 8028]

A W N -

2) (Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given

AETPRPIRIIEES) - . MR Day, [GPGSRSURTIs, (o, ISPRLRSUTURS R BTTT | [ Ly TR NRIR LR LTI P TRPR: DU SYCUPCLI. 1 SR R . ¥ g TUE [k [y [OPURU o YNGR, SRULSERPLS b (ST, R RO O R AT |
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in the table, answer the question :

Sector-wise Distribution of Workforece of India

Employment Sector Worlkforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:2
Sales (S8A) 12% B 3
Construction and Maintenance (M) 9% bh:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 5 G
Others (OT) 6% 3D

frafafes aifes = fa=m fifse 5o o 57 5o ad | om = fafim & & e & s =1 afam
(%) faao a1 Eu-AtEen FEEa sTE FmE T 2 @l & % Fe FwEea F sEm 80 o E
FifeAeT § f2U U wTis] F SUR W UvE F 39 sl

WA % FEEE F1 EFan G

wfeore (%) T | geq-wfeen wigam (309 )
Fa (TE 3) 15% i
Ty (ug ) 12% 5:3
formfor it srem (< om) 9% 5:4
TrpeEe (d #w) 18% 517
TaYT (T T) 21% 3:4
Seareq A ufEE (4 19% 5:3
W= (=7 7) 6% 3:5

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?
(1) 330% (2) 318%
(3) 320% (4) 80%
maé GﬁT Eifee s F'EITI 1T amqriq HT}:w r-1».|-Tslcv1 Eql el HET =t uH ?ﬂ fl mmr{d L) uhl-ir'sacﬂ T HEr &

e wfaea 27

(1)  330% (2) 318%
(3)  320% (4) 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]
1 [Option ID = 8029]
2 [Option ID = 8030]
3 [Option ID = 8031]
4 [Option ID = 8032]

AN wnN -

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforee of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforece of India

Employment Sector Worlkforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
& an (ST 1R0: = B }
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Sales (8A) 12% o 3
Construction and Maintenance (M) 9% H:4
Profezsional (PR) 18% BT
Management (MA) 21% 3:4
Production and Transport (PT) 19% F
Others (OT) 6% 3:5

ffafed oifers @ fa=m fifse f5om o 57 oo =8 4 oFm = fafim aaf © 9 % s =1 afem
(%) Taemor Qo geg-ufeen wrEEE wquE 2@ T 2| '@l &6 % Per weed H ged 80 @ng
A= | 20 U TS F SUW W U9E % 399 A

Ao (%) T | gee-Aieen og9E ( 307 )
a1 (uH g) 15% 3:2
#e| (T ) 12% 5:3
i ot sream (7 o) 9% 5:4
TrFeEe (f7 ) 18% 5:17
auF (UH T) 21% 3:4
Feara AR i (d #) 19% 5:3
a7 (=1 ) 6% 316

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) 87%

(3) 89% (4) 85%

TH U AR TR U & H FERd 999 wEea F Fe @ 0 A @9 7 HeE Hreed f G G w5 e

(1) 82% (2) 87%
(3) 839% (4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036]

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 32
Sales (SA) 12% Bz
Construction and Maintenance (M) 9% 5:4
Profezsional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% FFa
Others (OT) 6% 3:5




frafafes aifes = fa=m fifse 5o o 57 5o ad | om = fafim & & e & s =1 afam
(%) faao a1 Eu-AtEen FEEa sTE FmE T 2 @l & % Fe FwEea F sEm 80 o E
FifeAaT § 23U 0 aT7s] F oUW W UvT % 39 altan)

NG & FEead 1 S99 faam

wfderd (%) T | gee-wiwen ogeE (39 )
T (vF 2) 15% 3:2
ey (ug ) 12% 5:3
fomto it srgeam (d ) 9% 5:4
THeFe (i W) 18% 5:7
TaYT (T T) 21% 3:4
Ieareq A ufae (4 19% 5:3
a1 (= &) 6% 3:b

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs

(3) 5.7 lakhs (4) 13.2 lakhs

TH U 3R UH U S0 § wEea Afee FEee # Fe 5o S A d9 ° weEd atEen wEee i wen w5
et FraT 27

(1) 5.1 9@ (2y 7.5¥mM3

(3) 5.7 (4) 13.2 =mg

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]
1 [Option ID = 8037]
2 [Option ID = 8038]
3 [Option ID = 8039]
4 [Option ID = 8040]

AW N =

5) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% )
Sales (SA) 12% Sl
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% B
Others (OT) 6% 2:h

ffafed oifes = faam fifse 5o o 57 5o ad 4 toFm = fafim aaf © e % s =1 afaem
(%) faaro qun wEu-ufeen FefEe wqoE @ e 2 @ @ % Fe Feiee f e 80 @ 2
AiferT § 2 U SATRs] % YW W YTE % 39 alAu)

UHA o FEE F1 SaGT




T (%) TET0T | gE-Hieen w0 (( o )
T (TE 2) 15% g9
Teg (T T) 12% H:3
it #i srgeam (o) 9% 5:4
mHeEE (i Hw) 18% 5:7
e (vH ©) 21% 3:4
Ieared ¥R ufiEea (d &) 19% 58
31 (=1 #) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17:39 (2)16: 37

(3)16:35 (4) 16 : 39

Hi v &7 J FEE Bl FESE S @ #3 § A7 vE Al A A H e 95 wEed 5 6 H

ST B 7
(1) 17: 39 (2y 16:37
(3) 16: 35 (4) 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4. 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

WEATE o fH T 6 ged R R S g # 9Ed i SR 6 sty Tegaie] WOErd & 7

(1) ¥R = (2) ==Y =
(3) T =T () =TT T =T

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]
1. 1
[Option ID = 8045]
2. 2
[Option ID = 8046]
3. 3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy

(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

frafatas T Atz wem gume F1 9= & e wers gadt fafsm gt & e 5 =t

T B | 3 I S SHgER SEE i AHaTT 2| 39H O S 1 GEa SudEn e % A o1l | 7




(&) TeH-FEa ()
(B)y fraism

(©) T i afeafs
(D) ==

(E)  Awtza

= fau o fasew § | wEl 39 1 =9 FirAw

(1) () 3 (B)
(2)  (B) 3R (C)
(3) (D) =N (E)
(4)  (B) = (D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]

1.1

[Option ID = 8049]

2.2

[Option ID = 8050]

3.3

[Option ID = 8051]

4. 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing

effectiveness of the method.

List |

List Il

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (l) Using Swayam and Moocs

(B) Open and distance learning method (Il) Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(1), (B)-(I), (C)-(1N), (D)-(IV)
(2) (A)-(), (B)-(1V), (C)-(1), (D)-(I)
(3) (A)-(1V), (B)-(l), (C)-(I1), (D)-(1)
(4) (A)-(I), (B)-(D), (C)-(IV), (D)-(1IN)

Fi-1 = w9 G111 foere i) gei-1 9 5= arfomm west | foam £ fafuei & 02 2, s=ts g

1% srfermm fafest =i womasfiera s i a9 & 18 2

T-1

F-1I

AT S i AEATE

(A)  HHE-TEH T TR Tt (I) ¥599 37 q78 F1 7=

(B) T 3t gt wifermm fafy (IT)  AfshfEa e 4=
(C) T it Fafws fafa (III) HT5ge HTIRF A=t

(D) faream =i A== faf (IV) uf=mt =+ wrg-we fames o

= fou o fameqi # @ wE = wE Ao

1) (A)D. (B)-AD. (C)-III). (D)-IV)
@) (A)AID, B)-AV). (C)-(I). (D)-ID)
(3)  (A)-IV). (B)-IID), (C)-(I1), (D)-(I)



@)  (A)-ID, B)-(D). (C)-AV). (D)-(I11T)

[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (l) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (Il) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (I) and Statement (ll) are correct

(2) Both Statement (l) and Statement (ll) are incorrect

(3) Statement (l) is correct but Statement (ll) is incorrect

(4) Statement (1) is incorrect but Statement (ll) is correct

e (D) IIte A SATEEa TE R WA % §E S IR aEar Y S HieE
Fu7 (1I) : T SAfhed TAT W WAdE Athdcs Wi wETdEl & e s"en 9 o

AT 7 % TEEE W AW e A A
W FUA AT |, 4 70 e 8 6 weE 39 I R =9 S

(1) =9 (1) =0 (ID) 21 =8 2
2) = (D) 3 (1) 391 T 2
(3) = (D) = &, s w5 (1) a2

(4) =9 (1) Ted 2, Tt ®a9 (1) TeT 2]

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

9 2wy fau o 2w wfgmeE (Assertion A) % w9 | fefigd # 4t ZE 3ue F (Reason R)

I (A) e # smgfe o o2 @ & et gEEa Tl = FfEa wEree sifams afommEn
%1 =EAH a9 2|

FA0 (R) ToRelt et forerr wEmrET Tonelt w0 st aRiEdteA § gun % 'y w6 e A e
Fiew|

IUTI e F AT |, A= Er T e | ® wE 39 =99 S

(1) (A) 37 (R) 31 &9 & 4% (R). (A) T 781 =91 21



(2)  (A) F(R) 31 Te7 8, wiA (R), (A) Ft oet =g == 2
(3 (A) T 2, wfEa (R) 9809 2

4)  (A) 3@ 2, A (R) &7 2|

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant's perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

TF| TR % TE | UHET-uiues = aeEtEd e S E v

(1) T T (2) ufETfEE Ty
(3)  =AEEEE WY (4) TETEEE Ty

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

e fie foref wforf o A wfefe oo % w9 A A 2, e A Frerffon 3 @ fa
1 T8 G BT
(&)  femroneE fafa

(B) =R i

(C)  =mars g
(D)  ulaeis &l

(E) =amarss f&3ra

Jr= fou o faseat @ © wE 3T 0 =EA i

(1)  (A) #71 (B)
(2)  (B) ¥R (C)
(3)  (C) ¥ (D)
4 (D) = (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]



8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List |  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (Il) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(l), (B)-(1V), (C)-(lN), (D)-(I)

(2) (A)-(D, (B)-(I1), (C)-(In), (D)-(IV)

(3) (A)-(In), (B)-(lI), (C)-(1), (D)-(IV)

(4) (A)-(1n), (B)-(h), (C)-(1), (D)-(IV)

g1 % |1y -1 = ferm =i g=fi-1 9 9w = =77 e 2, S=is g=-11 § 37 gR1 W a5

-1 T 1T
T = = TR | A AETE! A
(A) HwEET HHE (I) AT 1 TR AT T T
(B) wfehewT fFmm (II) ©F TevR T2 W THEAT H o7
(C) wferraa ufsen =1 === (I11) == % &= § g 74 336
(D) wAmre fagermm (IV) =% = =@ = s gee S

= fEu o e | W wEl 39 W =9 FI0AT

1) (A)-ID, B)-IAV). (C)-(ID). (D)-(D)
@ (A)-D. (B)-AD. (C)-(IID), (D)-AV)
(3)  (A)-aD. B)-AID. (C)-@). D)-IV)
(4) (A)-(IID), (B)-(D), (C)-(ID), (D)-(IV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (l) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (Il) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

= 21 = f2u T #

w1 (D) U WH-TEE N AY-UF ° ogd N @A % ey AR el % si" i A T8
For (I1) ot wEHt s wR T ST w9t e * o a2

IYIIh HYH % e 1, 4 fau e el | 9 wd 3 99 it

(1) = (D) % (I0) 21 =3 2
(2) = (D) & (1) 241 318 2

Pl Y D pNE i~ T § o NEEDUILRERE, J | PRSI, it



= T e il - o R o h R B R L O i SRR, bl B M s - Bl Res PO S i

(4) T (1) =79 &, A= F9 (1D 97 2

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

49 31 #9920 70 ;v wiFUT (Assertion A) F T H fafEa 2 A 5 3% FW0 (Reason R)
FEYH

wATHHTT (A) : et wie afeEer (Hy) =0 et aftsesar (Ho) =1 =erear d ohem fee =
=HTET |
F (R) st gfeRer (Hy) 6 aharta 1 siigfe drg =0 9 78 it 51 a1 2

I FYT F A |, 49 70 e § 8 wee S S5 R =99 i

(1) (A) ¥R R) FH =E F IR R), (A) F T == R

(2) (&) 3R (R) IF TE 2, S R). (A) @ = T2 o2
(3) (A W 2, A (R) WA T 2

@) (A=A FE B, S (R) WA R

[Question ID = 2021][Question Description = Q15_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

YA UH TR e a6 g U fae eteten 1§ 9 e 5w e e e
(1) 30 St (2) 307g
(3) 15 I (4) 15 Fa=%

[Question ID = 2022][Question Description = Q16_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

| TmmTT = odE-faE (S) "Let truth prevail” #7

(1)  fg =g (2) =TEFE A% e
(3 Rf=nm 4 =g

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]



4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= 31 wu 2w U E - v wiHEU (Assertion A) % T H fafima 2 @ T I5F FA0 (Reason R)

AR (A) Aferw TERY (FTe=re) SuEd Afas Gafwsie S w0E B 8, Teg s difs
i 9% W TR U9 92 W 2

#10 (R) : S TERY (SisHnz) Hifsa W a9 gF # A ugd 2
W FYT F A |, 4= 70 T e § 8 wee S S5 R =9 i

(1) (&) 3 R) A T8 2 317 (R). (A) T w8 == 2

(2)  (A) #F (R) IF =ET F, = (R). (A) 1 FE = w5 R
(3) (A = 2, w5 (R) @d 4 2

@)  (A)wE FE 7, wfw (R) WA B

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

SHEER % 9 &7 £g MUFHl U AqEdies (50 Tw | UF URiE s a wrast afed 5u7
(A) o fame fafaEt #i aga i g@e w2 F o

(B) =3 T Fafba] 9 & o9 UE 21 % o)

(C) a7t & foven qone =1 &1 924 & o)

D) 7 =wen wAE # o f e # e awE Hife w
i<t fom e foehed § & oE U ST H1 S i
(1)  =a4 (A) 317 (B)

(2) e« (B) 31 (C)

() == (C) #AR (D)



(4)  FAa(A) F(D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

Hra < 1 g 9 I wmmw i wEE e = et fif

(A) =T
(B) s
(C) TEmE
(D) =

(E) == #1474

Fr for o faewi ® @ @ = w1 =9 Hifaw

(1)  =ed (A), (B) # (C)
(2) === (B). (C) 3 (D)
(3) %= (C). (D) 31 (E)
(4)  Fad (A), (C) 31k (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-

(3) Rs. 5,000/- (4) Rs. 6,000/-

U 94 % S UF UHER W A o1 o0g S 3 BEEl | 4000 9, 36 AT 4 HEAl § 4500 T
# #Afm 5w #5000 T A1) I =W AW F A FA w=4 5000 T A A 3@ qfEwR A ostEn
HIF 3 AT o ?

(1) 3000/~ == (2) 4000/- w

(3)  5000/- =5 (4) 6000/ =

[Question ID = 2027][Question Description = Q21_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]



17) Find the average of all prime numbers between 70 to 90
(1) 76.5 (2) 98.25
(3) 55.75 (4) 56.75

70 ® 90 = drg # B T weme W e gan -

(1) 765 (2) 098.25
(3) 55.75 (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

% = 33 #few 39 =t W 11 wfex 3u & faw gem % avew @ Afdq w2 afowa @

M9, :

1) 25% (2)  50%
(3)  70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

atz et awq 1 =T e I T 5 w1 95% 2 a1 @ i wfawaar w4 27

(1) 4.26% (2) 5.26%
(3) 2% 4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/- (2) Rs. 2,000/-

(3) Rs. 2,080/- (4) Rs. 1,560/-

Ifz g =afE Tt =g ®1 25% ufawd Fi 514 @ 38 1200/ - #99 | s=a1 2 a 30% 0 oy FEH
feru 38 3@ awg =i R Fima W ST 9ET it

(1)  1600/- =93 (2) 2000/- =4
(3) 2080/ = (4) 1560/- =w

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124]

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti  (2) Anumana

(3) Upamana (4) Unuplabdhi

I A FAAAE ° A F FeEiEatEd 3 FE-8 A6 5 a5 6 e 9 6w F A SEEal W



AT :%‘?

(1)  amE (2) IgaE
(3) FIHH (4) :ﬂgqﬁ%'%’x

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A), (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)

I TRIITE o FTEN S T W W ST o HE e R

(A)  Taame fawm @ g it wHEa )/ oEsEar # w9 (3999)
(B)  wwon = A (%G)
(C)  srfqamon =i fagdt % =0 ° gfz (o)

(D) aAfqgmon =1 %9 (wfa)

(E) Tafes fmw =1 sgmm 24 (3gmmn)

H= fom o faedt © @ @E 3 %1 =99 Fifw

(1) (D). (E). (A). (C). (B)

(2) (D). (C). (B). (A). (E)

(3) (D), (B). (E). (A). (C)

(4) (D). (E). (A). (B). (C)
[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]

3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) WWhich of the following schools of Classical Indian Philozophy reduce Sabda pramana
(verbal authority) to inference?

(A) Navava
(B) Vaiéesikas

(0 Buddhists

(D) M mamsa
(E) Carvaka/Lokavata

Choose the correct answer from the options given below :



(1) (b)) and (L) only
(2) (B). (C) and (E) only
(3) (B) and (E) only
(4) (A), (D) and (E) only

T HEAE A9 AT WIS 9eg THIY S STE o HaTd JEd

(A) =M
(B) dsifo=
€ g
(D)  HmEn

(E)  =ai /<wmEa

A= fou Tu kel | © @E I %1 =9 i

(1) &= (B) &l (0)
(2) === (B). (C) 31 (E)
(3) === (B) 31 (E)

(4) a9 (A), (D) #R (E)

[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]

1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

1.

24) Given below are two statements

Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (Il) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

= 21 ey fau T R
U (D) T TS TR % AR T 0 e 0 5 H Gt w2
Fo7 (1) : difeheh W ¥% T8l Sardl & 5 =6 fm usn 8 sae S =i sfew e 18

Fardl 2 76 26 FE IFEE 9T 2

I FUA F A °, S B0 GEe § " g 39w 9 i

(1) =99 (D) =17 (1) 341 a9 2
(2) = (1) SR (ID) 241 w15 Bl
(3)  =ua (1) ucd 2, i =9 (1) 31609 2

(4) = (1) A6 &, w99 (1) 9e 2

[Question ID = 2035][Question Description = Q29_GP_20NOV_S1_SHAAN]
1



[Option ID = 8137]
2.2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (1) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (IV) Becuase there is smoke

Tt-1 = wy F=-11 0 e fim)
g1 g=i-11
(A)  sfipgron 6 wfia =+ =9 9 gfe (I) =l 931 21 & 98 A7 'l 2 99 WEE
|
(B) =W T FUA (I) WETET W A R
(C) fafza Fem =1 33 3 (IIT) safeT T=rEl = a7 2|
(D) =rfa 1 = sAfaamen & F99 (IV) =it ==t ga1f 21

Fi= fau U feekewt | @ wE 3T = = i

(1) (A)-(I). (B)-(IIL). (C)-(IV), (D)-(1I)
(2) (A)-(IV). (B)-(III). (C)-(I). (D)-(II)
(3) (A)-(III), (B)-(IV). (C)-(I). (D)-(II)
(4) (A)-(ID), (B)-(1), (C)-(1LT), (D)-(IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

UF S 1 FOEI F A Bl H U 9 Hise % oued & WEi e 2 faem = faga i gua w2 oaw
=1 fumet =AUz Aise i S0 ST 9 D SR F9E 1 # 2)

(1) e (de) = (2) =13
(3)  witas w2 &8 359 (4) U= S

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (OS) installed on it.
Reasons (R) : Man and Computer cannot communicate directly.



In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 2 Fea T2y 70 # ;. w wiimed (Assertion A) % &0 H fafigd ' Al TH 5% #00 (Reason R)
®EIH

AIFH (A) i i Nt Lo B e B e T e A o 2 et e o M e e e o0t e | e ey
#10 (R) ; T A FwEE 'Y dN W S | HaE 6w @ |

I HI % AErs |, = 5 T e 8 ° e 39 W 59 i

(1) (A) 377 (R) 21 729 3 =01 (R), (A) Fif =&t = 2

(2 () 3T ®) 3 T F, wEE R), Q) F wwE =men w6 2
(3) (A =ed 2, & (R) 399 2|

4) (A z@e 2, |6 (R) O 2

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) ldentify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :
(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

TeE 91 O me I AN F w6 0 HefEiEs wie aude $ mE #E g St
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) T Bytes

Hr= f3u e fashedl @ | w39 W =9 HiA

(1) (D), (A). (O). (B)
(2) (A, (D). (0. (B
(3} (A4).(B).(C). (D)
(4) (D), (C). (A). (B)

[Question ID = 2039][Question Description = Q33_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (I) : Wi-Fi has a shorter range than Bluetooth.



Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (1) is true but Statement (ll) is false

(4) Statement () is false but Statement (ll) is true

SR % TEY A A sgy 9 S-St gh 8, A g ®wuF fag

w9 (T) : ATE-FTE T 7 w29 H FH w2
Fu4 (ID) : ATE-TTE T WIS W Sezd I ST FA AT A W H T2 A 1 a2

ITE FH A, 99 B v et § & ot 3w = =g it

(1) =9 (I) = (II) 31 &3 2
@) = (D) = 1D 2 s 7
(3)  =ud (1) &cA 7, =ifT wu (1) s7/8ca 2|

(4) = (I) 38 7, w6 %9 (1D 77 2|

[Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List Il :

g1 % =y g=-11 # faam Fifsm)
1 111
(e et 1) (srrer)
(A) OCR (I) Zfd @1 eeafafiga eeaeEsl &1 Thd FH &
fem e e 21
(B) OMR (D) =g-famedta wienst § o7 Tg= = + o
(C) Email (IIT) STHA=HT Feg AR
(D) Instant Messaging (IV) =aFrierd Hegfnem
= fou o fasedt ® @ | T w0 wEa A
(1) (A)-(II), (B)-(I), (C)-(IV), (D)-(1II)
(2) (A)-(ID), (B)-(D). (C)-(1I). (D)-(IV)
3)  (A)-I), (B)-(I), (C)-IID), (D)-(IV)
(4) (A)-). (B)-I), (C)-(IV). (D)-1I)
Match List T with List IT:
ListI List IT
(Computer Terms) (Purpose)
(A) OCR (! Used to scan typed or handwritten
documents
(B) OMR (II) Used to mark  multiple-cholce
examinations

(M Fmail (TITY Aszsvnchrononz Communication



(D) Instant Messaging (IV) Synchronous Communication
Choose the correct answer from the option given below :
(1) (A)-(IT), (B)-(I). (C)-(IV), (D)-(I1T)
(2) (A)-(IT). (B)-(I), (C)-(IIL), (D)-(IV)
(3) (A)-(D. (B)-ID. (C)-(II). (D)-(IV)
(4) (A)-(D)., (B)-(II), (C)-(IV). (D)-(I1I)
[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8161]
2.2

[Option ID = 8162]
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

Frerfafiga 5 ® 991 ©F A S0 GO 9wy 27
(1) &= SEATETES (2) foomes FeEs
(3) IS SSHATFAES (4) HEm

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

Frferfiga & & F-m w91 |6 g 91 w0 =9 A6 2 7
(1) I ot (2) " Sl
(3)  wrEE (4) FEfIEd

[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic (4) Storm

Frefafan ¥ 9 -5 THeH A9ET IO Aed! B AR I ATTHIGE G 7 TE E ¢
(1) 5= (2) “EeEE e
(3)  w=Emm (4) TEA

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem



qAT TR Fl TR FE D= F el § NMSHE fafafas § 8 fras gamer 27

(1) National Mission on Solar-Hydro Energy
(2) National Mission on Sustaining Himalayan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalavan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

frferfiga § | 57 wguel #1 ufaga U9E 5959 & ERe 371 Jeag uiEdd W asdr 27

(A)  AT5ESHE SEATFEEES
(B)  =orE 9219 (PMas)
(C) ==

(D) =

(E)  Tsgd sieErss

= fou U feepewt | ® wE I 1 = it

(1) === (B), (C) 21 (D)
(2) = (A), (B) F(C)
(3)  =ae (B) 3 (D)
(4) == (B) 3R (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
o o & "2d H, WHdE F=ad FEeE § g e § us uEgws ddn 9 fgii| e F fe
fefates # 3 g adm B /o =1 5wt ar?

(1) 7 (2) wHi S
(3) wH AN A (4) T HI g

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :
List1 ; ; ; ;Listll



(A) NAAC ; ; (1) Delhi

(B) NIEDA ; ; (ll) Bengaluru
(C) NDRI ; ; (lll) Lucknow
(D) CDRI ; ; (IV) Karnal

g1 % =y g1 faes Fifsw)
g=fi-1 g=h-11
(A) TATTH O feE
(B) mEEIdT (II) ===
(C) wA S HW A% Iy =E+5
(D) i <t s m g (IV) =

+ra fou mu fomhedi & © wE SO 1 =A i

(1) (A)-aD, B)-(II), (C)-(T), (D)-(IV)
@) (A)-AD. B)-(D. (C)-aAV). (D)-(1I)
(3)  (A)-AID, (B)-A), (C)-T). (D)-IV)
4 (A)-AQV). (B)-(ID. (C)-D). (D)-(D)

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.

Choose the correct answer from the options given below :

(1) (A), (D), (E) only

(2) (A), (B), (E) only

(3) (B), (D), (E) only

(4) (A), (C), (D) only

72 T Hifg (ua € d1)-2020 4 w5 £ & vs F e FHE w1 wEE 2| 99 e F fatea wewe s 7

(A) iR § sEeE S FEEn 2 T fEw dE )

(B)  ifepmd =i @EEH wg WrEifeh & TAR % @€d | oEnl & ged SEE-T2E & U B gedl HAET

(C) =t g WSt i wRE 3§ wEEaT g ARET et w i w6

(D) =W qftaal, F i Seed 9fEdT # &9 © dTew gHifed # @ e eg et
ST =1 TAR S 7Y S AIEE T4 wA

(E)  fore dtenfiehi # silfg® 27l Oxamrd amanati =0 (Haiy s

= far o e | | wEl 39 o =3 FIAT

(1) 3= (A), (D). (B)
(2) == (A), (B). (E)

(3) === (B), (D), (E)

o i e
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[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2) (A), (C), (D) only

(3) (B), (C), (D) only

(4) (C), (D), (E) only

frfeafiaa ® 9 FH-0 2-#fomm 5= 27
4 =9

(B) W

(C)  w=Fwsn

(D)

(E)y 7%

= fau o famweal § | HEl I w1 =9 HA

(1)  #== (A). (B). (E)
(2) A (A). (C). (D)
(3)  F== (B). (C). (D)
(4) %= (C). (D). (E)

[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198]
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

T TPk TEE g9 AT A 2015 # Aad A wE-4 O geigd SeieiEd 3w -0 95 s

= °qry
(1) 379 TEed 3R ageed (2)  ToEETE T
(3) T ImER (4) FEFT FETER UE SEETEAT

[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]
3. 3 [Option ID = 8203]
4. 4 [Option ID = 8204]

Topic:- General Paper_Set1_C
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The Corona Virus COVID-19 pandemic 1= the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
yvear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. 1t has the
potential to create devastating social. economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UN's socic economic Trecavery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income., with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 300

million people will not be able to meet their basic needs.

T 1 WEGHEE U2 997 T §1g 198 T W9 # I 2

FHEFT TEE FHIF5-19 FaME 201 569 F SAYdYs 479w SR g9 i1 fgia favsag & ae i wem
oSl T 2| e = % sifaw 241§ ufoen § sue 3299 % WY FF G SACEhie Tl BigE el
TR W R I 2| 39 OF g@E 9 F 10 9@ | A 9 = 9% 2 @R 5 geEa # R #w
TIHT SFEEAE A I TS @ 3| Wed U WEEN W@RE R d HEl AGE 2, TE ThH ATy
ot aE-AfdE Tz ot 3| W W UAE = TH UAEd 2| e faAd mmtas wnide e
(faft) @ 7 w= & ft o T 99 TEE W R, W § T fO9vd R e & 5ed ¥ u9e
W gedl gegl B ff 2@ w2 a9 9 dfvas awdE s FEeE o wE w o g u dfise
AH-IAE % Sgcd § e w6 T 2| w G @ Aed St o g e w21 3= A8 A R afdesrta
w9 GEFg B wHed w R g gidiw gl % wiee Wi wHg-te wel 9§ g 39 w@eT w6
A & 5 400 fafemm (40 Frs) & i S w1 w7 fava @ 9 wgEe a2 e
gt (Ifgdm) § 110 fafema smich gen £ =t st o sl 2 7 s00 fafeem (s0 =rg)
S AT g SEdt W g e | gEd T a e

major crisis faced by the world since World War Il is in which area?

(1) Industrial (2) Technological
(3) Communication (4) Health

Tz favagg & =12 fova =1 w9g @91 99 5w &3 9 s 27

(1)
(3)

S oy i
= (4) =

[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]

11
2]
3
4

A WN -

Option ID = 8205]
Option ID = 8206]
Option ID = 8207]
Option ID = 8208]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last

vear. the virus has spread to every continent except Antarctica. We have now reached the



tragic milestone of one milhon deaths. and the human family 18 suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal. economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UN's socic economic recavery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 300

million people will not be able to meet their basic needs.

TET W HEGHEE U8 99T T §1g 12 T qe I 2

FHIAFT T FHF5- 19 TaME 201 G599 w1 AYds 370w = g9 i {3 faveag & an o wem
oSl T 2| e = % sifaw 241 | ufern °§ suE 3299 % WY FF G SR T BigE el
TR W A I 2| 379 OF @E 9 F 10 9 | A FH & g% 2 @R 5 AeEar # R w
ST FEEAE A 351 95 16 2| Wed 9% HEMN| TR @he ° %el HAUh 3, T8 UH AYAE
amfaE-afd® a9z off 31 29 = vEF =t e awiEa 3| e T aefas arfds sin
(fearit) @ 7 w= & ft o T 9 T W w7, W @ T f9vd R e & 5ed E A9w
e gedl gegl w f 2@ w2 a9 °F dfvas amdE aEtE FEeE o wE w0 o g w s
AH-AE % Sed § e o T 2| w5 S Ae St o A e B 3= T A R afesta
9 @A B0 e W R B g el R B i WHg-az el 98 8| AadE AW EEA w
o & TR 400 fafemm (40 Fs) & o SR ST o 2| v dF 3 wgeE ae ® o A
g-waw (fem) 7 110 fafems omieh s i =6 st soe st 2 7% s00 fafe=m (s0 +rs)
S AT S et g A § gued a8 A e

The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

Tem = Pt @ o fem gm o aaE T8 e 27

(1)
(3)

T (2) =
T SR T (4) FTEER

[Question ID = 2053][Question Description = Q47_GP_20NOV_S1_SHAAN]

A W N -

3)

1 [Option ID = 8209]
2 [Option ID = 8210]
3 [Option ID = 8211]
4 [Option ID = 8212]

Read the passage carefully and answer the questions that follow :

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic mileztone of one million deaths, and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1s much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal, economic and political effects that will leave deep and

longstanding scars. [UNDP 1z the technical lead in the UN's =zoclo economilc Trecovery.



alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US 3110 billion decline 1n remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.

T ] WEEHEE U 1 T @15 HE T W H I 2)

AT TTE FF5- 19 FEWRT 591 599 F1 AYays 37a® = g% 91 i fveag & o i wow
w21 A 2 fooet a9 =+ wifaw 90 9 ufimn o A% 3399 % WY 3E GOS0 SIEhiCR il BISH Uedh
TEET B h 99 ¢| O OF @R F9 § 10 W o S FH T 99 7 IR 5 aeEas A #
ST SHEAE diF I3F1 U5 W 2| Wed 9% UEMEl WRed G ° %El SAUs 7, T§ UH AYAqE
aETfaE-Afd® dwz i B 2 F UcAE AN THE UWiEd 2| E [GREEE @EilEas ands Hn
TSI WA TSH A £ T o GHE a9 e 9 B JTe 7| G UF S AT siid oty
(ferarit) ® 7 w3 St °t v AR 90 Y9 WO R, T 8 7% v e e F 6eA ° 9w
= wudl gea # A 2@ w2 9w 9% afvew amdE aEtEm TEea F e W f 3w e
O % Aqcd 1 O R T 21w 5 S e S o o e w 2| 3 T8 A R affete
F4 TEFE B Wed W AT B ST e F sred N HHg-02 Wl U2 3| SAaUEE 49 5T w6
FIFA & T 400 Tafema (40 #ars) @ 61 S =1 awdl 3| fva o9 9 sgEE @ 2 T owm T
w-Tar () § 110 fafems smfeft sem 6 =i smwft) soe sty 2 1% so0 fafesm (s0 +s)
ST AT g S # g #RA § =g T8 A A

Which continent is least affected by COVID-19?
(1) Asia  (2) North America
(3) Australia (4) Antarctica

A1 TETEM FTT-19 H HIH FH WA 57 27

(1)

(3)

e (2) == i
AT e (4) TEmERZE

[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]

A w N =

1 [Option ID = 8213]
2 [Option ID = 8214]
3 [Option ID = 8215]
4 [Option ID = 8216]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1= the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1t emergence 1n Asia late last
vear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UNs socio economic recavery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income., with no way of knowing when normality will return. Small

12landnationz heasnly denendent on touvizm have emnty hotels and dezerted bheachez The
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International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

TS T AEEHYEE U 9T $HF @75 4T T 99 H I 2|

FHAT T F(G5- 19 FEEH 501 9659 F A4TIE I79F = T4 @6 50 fGveag F e & e
ot gA 21 Tt a4 % wAfom 24 4 o @ sus 3399 % WY gF G Hahied h BISH Teah
TR B B 9 21 3T OF @ ®9 H 10 9@ o SO I a1 99 7 SR gl aead w5 a #
TTET FEEAE A IS U3 @ 2| Wed 9% SEEN WReT HEd @ Fal oAGd 8, T8 UH Agaed
wETTE-AlE w9z H 2| 29 W UCA® oA SHE AW | SE% SRRl SIS Ands i

a?

Tl U9 USH A B TR o wee 99 e o T A B | 9 Ug s mmitas s i
(ferait) & 9w 31 ff o T 9 T W T B, 919 6 7% v TR e & 5eAn ¥ 99 |
= medt ggai w1 A 2@ w1 2 9w 7% dfvew amdE st fEem F e W ot 3w EiEe
oA % gcd 3 e R T 2| W T S and Ssfan ot e e w 2| 3 T8 e o afiesfe
w9 GEFE B W W A g gidle wgl % wiee s wHg-dz wel 95 B SAaUsiE 49 E@eT w6
e & TR 400 fafemm (40 #s) =i i Stwfen st wdt 2| e d% 3 wgEE @ @ oo
w-uaur (ifada) § 110 faferm amfef s i =it smofl) soe sifyome 2 % s00 faferm (80 #us)
ST ot i Sl g we § wRe AEf A o

Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC

faet % & fopm we 3 UN 91w it wfonfan (ferdt) o = 3ge wem fn 27

(1)
(3)

UNDP (2) UNICEF
UN-GHEP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20NOV_S1_SHAAN]

A W N -

1 [Option ID = 8217]
2 [Option ID = 8218]
3 [Option ID = 8219]
4 [Option ID = 8220]

Read the passage carefully and answer the questions that follow :

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic mileztone of one million deaths, and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.



In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?

T 1 WEGHEF T a9 39 915 28 70 W I |

FHTET T FTS-19 FEMH 5HR THF 1 9073 I7ash = g6e 31 fgde fHvagg =+ ar i wed
w1 AR 21 U @9 % sifon o 9 ol 4 see 2ena % Wy ¥F 9 AT CH i SIS TeaE
TEET B h 99 ¢| O OF @R F9 § 10 W o S FH T 99 7 IR 5 aeEas A #
TG SEAE AT IIE U3 T 2| WA O TEMN SRS HEe d %l AGF 2, T8 UH YA
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(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions
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